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Introduction

Re-tuned OMP 2010 (Johnston and Butterworth 204 @sed here to calculate the TAC for the
South Coast Rock Lobster resource for the 20100sedblote the convention that 2010 is used
to refer to the 2010/2011 season.)

Note that re-tuned OMP-2010:
1. has a 5% maximum TAC change constraint, and
2. has a median anticipated recovery expressed irnstefnB¥ (2025/2006) of 1.20 under
operating Model 3 (MARAM Time Varying Selectivity).

TAC 2010 recommendation from re-tuned OMP 2010

Table 1 and Figure 1 report the recently updatetdEEBeries for the South Coast rock lobster
(Glazer 2010). These input CPUE values are usedomunction with re-tuned OMP 2010
(Johnston and Butterworth 2010) produce a TAC renendation for the 2010 season328
MT. Appendix 1 provides the detailed calculation 8(CT2010.

The recommended TAC is less than the current TAG4& MT. The OMP reduces the TAC
both because of the net downward trend in CPUE twerlast five years in all of the three
Areas, and because the average CPUE over thehtast $easons is less than the average over
2003 to 2005. The inter-annual TAC constraint funets the decrease in the TAC to 5%.
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Table 1: CPUE input data into OMP-201- (Glazer 20580d the slopaZ,,, of the associated

log-linear regressions.

Season Areal Area?2 Area 3
2004 1.298 1.192 1.239
2005 1.186 0.921 1.026
2006 0.912 0.743 0.792
2007 0.958 0.962 1.124
2008 1.178 1.069 1.066
slope -0.0408 -0.0174 -0.0210

Figure 1: CPUE input data into OMP-2010 (Glazer®01
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Appendix 1: Detailed calculation of there-tuned TAC for 2010 using OM P-
2010

Johnston and Butterwor{R010) provides the details of OMP-2010. The keyfO#&fjuations are
reproduced below, and show how the TAC recommeoi&tir 2010 is calculated.

TAC setting algorithm
The algorithm used to set the total TAC for the tBdCioast Rock Lobster fishery is:

TAC,,, =TAC [1+a(s, —9)Ih(r,) (A1)
where

the value ofa is set at 3.0;

s;‘ is the slope parameter from a regressiom 0PUE; against yeay over the last five years of
available data (2004-2008) for each afeand

3
s, = > whs) (A2)
A=l
1
ol
wherew” = —5 (A3)
3.1
D)
A=l Og

and g is the standard error of the regression estimfags avhich is bounded below at 0.15.

O is a control parameter value and is tuned to bleg -0.029 for re-tuned OMP-2010.

Also:
h(r) =08 for r<08
=r for 08<r<10 (A4)
=10 for r=10
ie.:
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wherer is the ratio of recent CPUE to that at the timnee@MP commences:

CPUE, % 5 ¥ A,CPUE; (A5)
CPUE é 5 3 A,CPUE; (A6)
PUE
'~ CPUE,
where
A =008
A, = 087
A, =005

Implementation

From regressions applied to the data in Tablebelgt values of Eqn (A3) which are bounded
below by 0.15 are:

o, = 0158
o2 = 0202
o= 0189

The average slope is then:
Sy Zw s’ =0.4317 (-0.0409 +0.2652 (—0.0174 + 0.3031* (-0.0210
=-0.02856
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Further:

Mo = — 2000 = — =0.8959 ............ using Eqn (A7)

and hencen(r)=08959 .l using Eqn (A4)

Thus before any inter-annual constraints:
TAC,, ,=TAC, 1+ 3(— 0.02856- (- 0029))](0.8959

2010 2009

= 3451+ 3(—0.02856- (- 0029)](0.8959 using Eqn (A1)
=3095MT

Inter-annual TAC constraint
A rule to restrict the inter-annual TAC variatiam no more than 5% up or down from year to
year is applied, i.e.:

if TAC,, > 105TAC, TAC,, = 105TAC, (A8)
if TAC,, < 095TAC, TAC,, = 095TAC,

Thus asTAC,___< 095TAC

2010 2009 !

i.e. 309.5 < 328, the final TAC = 328 MT.



